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. Choose the correct option.

a. The length of your tiffin box could be
i. 12km ii. 12cm iii. 12g
. 9m32cm=
i. 9032cm ii. 9302 cm iii. 9000 cm

2
Z of10kg =
- g

i 2000g ii. 5000g iii. 4000 g
. 7300 ( =
i 73Kkl ii. 73kl iii. 730 k¢

. State whether the following statements are true or false.
. 9438 km =9km 4 hm 3 dam 8 m

. 4305m/l=43.005/¢

lof20m=5cm

. 74391m=73km91m

. Match the following.

a. 27g8cg= i. 9105/

b. 9kf1hi50= ii. 6327¢g

c. 3246 cm = iii. 2708 g

d. 6kg3hg2dag7g= iv. 32m46cm

. Solve the following.

a. Express 42.839 kg in dag.
b. Express 56.974 km in hm.
c. Express 2.439 k/ in d/.

. Answer the following questions.
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20000 g

7300 k¢

a. Radha bought 5 kg of potatoes and 3 kg 250 g of onions. How many more potatoes did

she buy than onions?

b. Anudrank 1 ¢ 750 m/ of water on Saturday and 2 ¢ 235 m/ of water on Sunday. What is

the total amount of water she drank on these two days?






